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Fundamental of Nursing

Section Id : 1364801
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 5
Number of Questions to be attempted : 5
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 1364801
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 1364801 Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S IRRBIAOHA BT ], 99 ST Bl 8|
Options :

1364801. ¥ 98.6 - 100 f&If BRAGSC

1364802. # 100 - 102 fSH BRA8REC

1364803. # 102 - 104 f$I BRAgEC

1364804. ¢ 104 TSI BIAERE ¥ 3iftd

Question Number : 1 Question Id : 1364801 Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A heat stroke occurs when body temperature is:
Options :

1364801. * 98.6 — 100 degree Fahrenheit
1364802. # 100 — 102 degree Fahrenheit
1364803. # 102 — 104 degree Fahrenheit
1364804. ¥ above 104 degree Fahrenheit

Question Number : 2 Question Id : 1364802 Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HTRTA e | &W URETRPT (scrub nurse) P “{&Iﬁ@?ﬁ%"

Options :



1364805. ¢ U FIfredt & SRM Tfifreid &1 Termar -1 3R Aoffare ead de &

1364806. % Y 3R YATER® (anaesthetist) B SR BT SATE T SR FAoifaToes & o
3MYfe faaRd e=m

1364807. % T fAfG e & SR YIMERP (anaesthetist) B TeTIAT HAT
1364808. # ey fafdrea & forw Ift &1 duR =

Question Number : 2 Question Id : 1364802 Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the role of a scrub nurse in an operation theatre?

Options :

1364805. ¥ To assist the surgeon during surgery and set up the sterile table

1364806. * To respond to requests from the surgeon and anaesthetist and deliver supplies to the sterile area
1364807. * To assist anaesthetist during surgery

1364808. * To prepare patient for surgery

Question Number : 3 Question Id : 1364803 Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fpadt Toidt & foxfta a9-39 Q Gefda eiftiere, SRIfS aole, &1 FaTondr gl
Options :

1364809. % 3T g

13648010. * fafd sfiera

13648011,  fa<ita sifcra

13648012. ¥ SclaeiHd 3@

Question Number : 3 Question Id : 1364803 Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Records that relate to an agency’s financial transactions, such as budget, are called:
Options :

1364809. #* research records

13648010. * legal records

13648011. ¥ fiscal records

13648012. #* electronic records

Question Number : 4 Question Id : 1364804 Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafoied & ¥ HH-91 370w 3R 3HT3TYe A1E &1 a1y el 82
Options :

13648013. * SoIAY fhaT I THBRI USH HdT &




13648014, # Gab 1Y fohd Bt TGN UG HRl 8
13648015. ¥ GUHU fohdT & TSR U HRdl §
13648016. # G Uqa ! SHBR] UG Bl &

Question Number : 4 Question Id : 1364804 Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT an advantage of an intake and output chart?
Options :

13648013. * Imparting knowledge on gastro intestinal function

13648014. * Imparting knowledge on renal function

13648015. ¥ Imparting knowledge on pulmonary function

13648016. * Imparting knowledge on fluid balance

Question Number : 5 Question Id : 1364805 Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 WaT8 (FEV) 3R a1 3T (FVC) ! HIYHR I & 4 T & SR H SIHBRI UM B & forg
frafafaa 7 3 foog ger Hifde RIS (chest physiotherapy) SUDHRUT BT IUANT AT ST 82

Options :

13648017. % 3{Rd BTs‘ fhaad! sfiaR fSarga (ailqawﬁl) (Oral high frequency oscillation

device (OHFC)

13648018. % BT3 Thaad e aid AR fSagy (Taumiiesgstl) (High frequency chest wall

oscillation device (HFCWO)

13648019. # é;lqc’H\I'}lé\l l-IQdﬁlR—id dtaxH fearsya (\HIg'lﬂTﬂ) (Intrapulmonary percussive ventilation
device (IPV)

13648020. ¥ 3@'@3 W@Tﬁa %Tﬂgﬂ (GfléQﬂ) (Incentive spirometry device (IS)

Question Number : 5 Question Id : 1364805 Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following chest physiotherapy devices is used to provide information about the patient's
inspiratory effort by measuring the air flow (FEV) and the air volume (FVC)?

Options :

13648017. # Oral high frequency oscillation device (OHFC)
13648018. * High frequency chest wall oscillation device (HFCWO)
13648019. * Intrapulmonary percussive ventilation device (IPV)
13648020. ¥ Incentive spirometry device (IS)

Basic Science
Section Id : 1364802



Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10
Section Marks : 40
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 1364802
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 1364806 Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafaiad & 9 fod Sig SIRI@e # g Y& Al We-5& (MTOC) H8l SiTdl 82

Options :

13648021, ® HIZCIpIAl

13648022. ¥ dRch hIY

13648023, % JSGH

13648024, % Tcolt B

Question Number : 6 Question Id : 1364806 Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is called the main microtubule organising centre (MTOC) in animal cells?
Options :

13648021. * Mitochondria

13648022. ¥ Centrosome

13648023. # Ribosomes

13648024. * Golgi bodies

Question Number : 7 Question Id : 1364807 Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

quereual (metatarsal bones) 3R W@Eﬁ (tarsal bones) & JHITRY T 9 Hdcjgdc UG Ty
iy (tarsometatarsal joint complex) S-dl g o gm=a: Hel Il g

Options :

13648025. ¥ W IfY (Lisfranc’s joint)

13648026. % TTATE TfY (Chopart’s joint)

13648027. % HUSS Y (Compound joint)

13648028. # iRy T (Phalanx joint)




Question Number : 7 Question Id : 1364807 Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The proximal connection of metatarsal bones and tarsal bones make up the tarsometatarsal joint complex
commonly referred to as:

Options :

13648025. ¥ Lisfranc’s joint

13648026. * Chopart’s joint

13648027. ® Compound joint
13648028. * Phalanx joint

Question Number : 8 Question Id : 1364808 Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

seardt smam . ¥ R ReR BT R

Options :

13648029, % JcTal &I 1Y Iad URT H ATAd B

13648030. * & Tl Ivl o TR I FARd B

1364803 1. ¥ SISITIT AN & UTdh TSIgH, 3 3R Sd BT J1d B3
13648032, ¥ TfR&T YUCH o Udh HFT & &Y H BT HA

Question Number : 8 Question Id : 1364808 Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Exocrine pancreas is responsible to:

Options :

13648029. # Secrete products directly into the blood stream

13648030. * Control blood glucose level

13648031. ¥ Secrete digestive enzymes, ions and water in gastrointestinal tract

13648032. * to act as a part of immune system

Question Number : 9 Question Id : 1364809 Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fraffad # Q S1H-91 g fbar ateror & 2nfiye T8 2
Options :

13648033. * TS &1e (PT)

13648034. ® Tegft

13648035. ¢ ORI
13648036. % fadR=faq



Question Number : 9 Question Id : 1364809 Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT included in a liver function test?
Options :

13648033. * Prothrombin time (PT)

13648034. #* Albumin

13648035. ¥ Pepsin

13648036. * Bilirubin

Question Number : 10 Question Id : 13648010 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafafaa AT foyg H@E Teeh SIfeddn o1 31e: RaT B m?ﬂ%:q JicRteft I (atherosclerotic
occlusive disease) gl oIldl %?

Options :

13648037. * gahiddpid

13648038. ¢ TRTRIT ¢H=T AT

13648039. # GfAbIdPHId

13648040. *# ERUCAADIA

Question Number : 10 Question Id : 13648010 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following diabetic complications is called the atherosclerotic occlusive disease of lower
extremity?

Options :

13648037. # Nephropathy
13648038. ¥ Peripheral artery disease
13648039. #* Neuropathy

13648040. * Retinopathy

Question Number : 11 Question Id : 13648011 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sfiar] gfs 9 &1 fr Traedt & ST gidr 82
Options :

13648041. ¥ Tl TIaRYT

13648042, % TNT YraxyT

13648043, ¢ fRR grawy1

13648044. # 3{U&Y UTIRIT




Question Number : 11 Question Id : 13648011 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sporulation occurs at which stage of bacterial growth curve?
Options :

13648041. * Lag phase

13648042. * Log phase

13648043. ¥ Stationary phase

13648044. ® Phase of decline

Question Number : 12 Question Id : 13648012 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

b GepR 1 STfrgTR T Ufctieh T TSUTRER HeA&IUT bl RV Sl 82
Options :

13648045, # UHR I faguiigal

13648046. ¥ UHR 11 ffcgafgar

13648047. * UHR 111 SRR

13648048. # FbR IV AU

Question Number : 12 Question Id : 13648012 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which type of hypersensitivity reaction causes Goodpasture syndrome?
Options :

13648045. * Type I hypersensitivity

13648046. ¥ Type II hypersensitivity

13648047. # Type III hypersensitivity

13648048. * Type IV hypersensitivity

Question Number : 13 Question Id : 13648013 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UFhadh! HITIH] (prokaryotic cell) e 3‘@@@? Pl aIdl 82
Options :

13648049, ¥ Had

13648050. ¥ DIIRIBT ST

13648051, # TRfIpI3M

13648052, ¥ HIZCIbI-SAl

Question Number : 13 Question Id : 13648013 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :



Correct Marks : 4 Wrong Marks : 1

Where does the transcription occur in a prokaryotic cell?
Options :

13648049. #* Nucleus

13648050. ¥ Cytoplasm

13648051. # Vacuoles

13648052. * Mitochondria

Question Number : 14 Question Id : 13648014 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

|UTRA fopan &1 franfafey sam g2

Options :

13648053, % IAYd HTd B! 9T §

13648054. ¢ Whe HId B! STl §

13648055, # TP YT Thedh &b 70U H &1 Hdl &
13648056. % Th YT Ufd-3qUTed & ¥4 H H1 Hdl §

Question Number : 14 Question Id : 13648014 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the mechanism of action of heparin?
Options :

13648053. * Prolongs bleeding time

13648054. ¥ Prolongs clotting time

13648055. ® Acts as an effective coagulant
13648056. * Acts as an effective anti-depressant

Question Number : 15 Question Id : 13648015 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g foramera=iy o g2

Options :

13648057, % IR JMY

13648058, % 3= qMY

13648059, ¢ fU=Ra Y
13648060. % gl ]MY

Question Number : 15 Question Id : 13648015 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is acute cholecystitis?



Options :

13648057. * Inflammation of stomach
13648058. * Inflammation of intestines
13648059. ¥ Inflammation of gallbladder
13648060. * Inflammation of spleen

Community Health Nursing

Section Id : 1364803
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 15
Number of Questions to be attempted : 15
Section Marks : 60
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 1364803
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 13648016 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SYIRSIh 1T Tk &1 UTIdl a1 P o HgT Sl 82
Options :

13648061. # I fRR

13648062. * Td fawaR

13648063. # fddifad favdr

13648064. ¢ fiRTae

Question Number : 16 Question Id : 13648016 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

The fifth stage of the demographic cycle is called:
Options :

13648061. * high stationary

13648062. * early expanding

13648063. * late expanding

13648064. ¥ declining



Question Number : 17 Question Id : 13648017 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 1 BT AH Id15T Sl AR A7 Y Ah H AGE Pl gl
Options :

13648065, ¢ JCTATIRY TIabl
13648066. % gHIBIDHU! Clapl
13648067. # HPV ¢Ipl
13648068. ¥ BCG <l

Question Number : 17 Question Id : 13648017 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the name of the vaccine that helps to prevent diarrhoeal disease.
Options :

13648065. ¥ Rotavirus vaccine

13648066. * Pneumococcal vaccine

13648067. #* HPV vaccine

13648068. * BCG vaccine

Question Number : 18 Question Id : 13648018 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafifad & @ -9 fawe fAavumas sreme & siaiid emarg?
Options :

13648069. ¢ Tt RUIE (Case report)

13648070. * &0 TRI&MT (Clinical trial)

13648071, % G0 T (Cohort study)

13648072. % T FGATT (Case control)

Question Number : 18 Question Id : 13648018 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Which of the following comes under descriptive study?
Options :

13648069. ¥ Case report

13648070. * Clinical trial

13648071. # Cohort study

13648072. ® Case control

Question Number : 19 Question Id : 13648019 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :



Correct Marks : 4 Wrong Marks : 1

TREdAT 3R AT WA P g Thdd P 3360182
Options :

13648073, % YRING W@

13648074, % 3{1eATHD WY

13648075. # Sifgd Wy

13648076. ¢ HHRID WY

Question Number : 19 Question Id : 13648019 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Homicide and suicide are examples of which indicator of health?
Options :

13648073. #* Physical health

13648074. * Spiritual health

13648075. * Intellectual health

13648076. ¥ Mental health

Question Number : 20 Question Id : 13648020 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS Sifed, Ah-dhfad, Tgarh nfafafd foras Jft ot Tareg v &1 RYRu S & g & Iy
SR Tl BT 3R A1 deb QA giaT g, S g

Options :

13648077. % Il

13648078. ¢ g

13648079. ¥ HIFIT

13648080. % HcHlch+1

Question Number : 20 Question Id : 13648020 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A complex, patient-centred, collaborative activity that involves information gathering and clinical reasoning
with the goal of determining a patient's health problem is called:

Options :

13648077. * planning
13648078. ¥ diagnosis
13648079. * implementation
13648080. * evaluation

Question Number : 21 Question Id : 13648021 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

TRy 21T Pt AT 99 H Ugl TRUT HI--T71 82
Options :

13648081, # W&l BT R0 H

13648082. ¢ JATARIAH AT BT B AT BHRAT
13648083, % ARG HRIGHH B! UgdT BT
13648084. % Sfeaarsii &) Uriffiesar T

Question Number : 21 Question Id : 13648021 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which is the first step in planning health education?
Options :

13648081. * Setting goals

13648082. ¥ Conducting needs assessment
13648083. * Identifying health programme
13648084. * Prioritizing complications

Question Number : 22 Question Id : 13648022 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'O REM ! A BT IS T2

Options :

13648085. ¥ Iqw QG

13648086, * Afw &1 & favg HRaE

13648087. ¥ X 3R TSP AT gHeT &b HRUI g1 arelt Hidll bl Ao

13648088. ¥ I Ud A T

Question Number : 22 Question Id : 13648022 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What does the policy ‘Yatri Suraksha’ aim at?

Options :

13648085. * Clean city

13648086. * Action against gender violence

13648087. ¥ Preventing deaths due to rail and road traffic accident
13648088. * Maternal and child health

Question Number : 23 Question Id : 13648023 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

wfgen sefieur o 3f = g?



Options :

13648089. ¢ fSaarfe-l e
13648090. % TUCD
13648091, # T il
13648092. % AT fafdr

Question Number : 23 Question Id : 13648023 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Female sterilisation means:

Options :

13648089. ¥ tubal ligation
13648090. * TUCD

13648091. * oral pills

13648092. # hormonal method

Question Number : 24 Question Id : 13648024 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIR SfFTHTRRR gfda & fore Fafafed & @ oF-3 te Tgayf sfead g2
Options :

13648093, # HtaT HIR

13648094. % 3ffaRadqrd

13648095, ¢ S0 HehHUI

13648096. % T/ T fapR

Question Number : 24 Question Id : 13648024 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is an important complication for copper intrauterine device?
Options :

13648093. * Cervical cancer

13648094. * Hypertension

13648095. ¥ Pelvic infection

13648096. * Benign breast disorders

Question Number : 25 Question Id : 13648025 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TP fdd a1 i o T IO 1 A4 Ao o e iid gt 1T g, 39 HeT ST g |
Options :

13648097. ¢ i TRUIT (definitive host)




13648098. # AT URUIS (indefinitive host)
13648099. % Heraa! GRUIT (intermediate host)
136480100. * TR GRUNT (mediate host)

Question Number : 25 Question Id : 13648025 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The person or animal who has been infected with an adult, or sexual, form of pathogen is called:
Options :

13648097. ¥ definitive host

13648098. #* indefinitive host

13648099. # intermediate host

136480100. #* mediate host

Question Number : 26 Question Id : 13648026 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

SIS (WHO) & STIR 8-, T, I T THET B A B H BioATs (b DR o b aiTar
3ITTH & IaTERI 62

Options :

136480101, # &fiurar (Impairment)

136480102, + 8T TAfAfE (Activity limitation)

136480103, # UFIIGRT UfdeY (Participation restriction)

136480104. # 3ffd Tfopg YR (Hyper active participation)

Question Number : 26 Question Id : 13648026 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to WHO, difficulty in seeing, hearing, walking or problem solving are examples of which type of
disability dimension?

Options :

136480101. #* Impairment

136480102. ¥ Activity limitation

136480103. * Participation restriction

136480104. * Hyper active participation

Question Number : 27 Question Id : 13648027 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fafafeaa & @ o yafauii Qee! & et W Soa9 (STTHSTS) (Trophic State Index (TSI) & TMHA
Tl &

Options :




136480105. # $Hd BRBRA

136480106. # Pl AZCIoH
136480107. # FARIMpA-Tigd
136480108. ¥ HT HIeRAH

Question Number : 27 Question Id : 13648027 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT included in Trophic State Index (TSI) of environmental indicators?
Options :

136480105. # Total phosphorus

136480106. * Total nitrogen

136480107. # Chlorophyll-a concentration

136480108. ¥ Total calcium

Question Number : 28 Question Id : 13648028 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafad & @ o1 W@y ST R davds T8l 82
Options :

136480109. # " SlareR-SI-EReT 3IUTd "

136480110. ¥ " Zidex-4 S{JUld "

136480111, % " SHTAT-XAT 3UTd "

136480112, ¢ " SHGHT-IIT SIUTd "

Question Number : 28 Question Id : 13648028 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT a health care delivery indicator?
Options :

136480109. # “ Doctor-population ratio ”

136480110. * “ Doctor-nurse ratio ”

136480111. * “ Population-bed ratio

136480112. ¥ “ Population-disease ratio

Question Number : 29 Question Id : 13648029 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

TS AT T SIcRT o SR 81 aTcl! Hid! & Hof TSl Bl HET Al 5|
Note: For this question, discrepancy 1s found in




question/answer. Full Marks 1s being awarded to all

candidates.
Options :

136480113. 3TUTcId GG X
136480114. &[d G X

136480115. G-I 3101
136480116. HRUT AR g &

Question Number : 29 Question Id : 13648029 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Total number of deaths during a given time interval is called:

Note: For this question, discrepancy is found in
question/answer. Full Marks 1s being awarded to all

candidates.

Options :

136480113. proportionate mortality
136480114. crude death rate
136480115. death to case ratio
136480116. cause specific death rate

Question Number : 30 Question Id : 13648030 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R-MRGw FagR Wl & deH # WeR (SOLER) o1 Juf =0 1 82

Options :

136480117. ¥ Facing the client squarely, Open posture, Leaning towards the client, Eye contact, Relaxed

state (BTRIT € FATSC WHTARE, ST URER, T IS ¢ aelae, 38 dica, ﬁﬁai%@‘d)

136480118. * Facing the client squarely, Optimistic speech, Leaning towards the client, Eye contact,
o . O 9 C . o\ o
Relaxed state (BFRITT g FaTEe WhrRa, PpHRes wia, i1 casy T FaEe, 3Ms Hicde, Raws

136480119. * Facmg the cllent squarely, Open posture, Learnmg skllls Eye contact, Relaxed state (W
adﬂl‘éd {'GDICRQ'H 3 LIN-‘CR Q'1I"|‘| I%OPQ'{'I GH_S:GMCOIC IQNORS %CC)

136480120. * Facing the client squarely, Optimistic speech , Leaning towards the client, Eye contact,
Reciprocation (WT[E{ WW, ﬁ@mw, ST gdSiH (G | EH C"rl'l_sC d”iédﬂ,
RGICIERE)

Question Number : 30 Question Id : 13648030 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

What is the full form of SOLER in the context of non-verbal behaviour counselling?

Options :

136480117. ¥ Facing the client squarely, Open posture, Leaning towards the client, Eye contact, Relaxed

state

136480118. * Facing the client squarely, Optimistic speech, Leaning towards the client, Eye contact,

Relaxed state

136480119. *# Facing the client squarely, Open posture, Learning skills, Eye contact, Relaxed state

136480120. #* Facing the client squarely, Optimistic speech , Leaning towards the client, Eye contact,

Reciprocation

Health Promotion
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Question Number : 31 Question Id : 13648031 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT 3MTER BT HTH A B Ul ITHNT Ue 3R Wy RUH & g JaY b1 IHH & U 38R
Haet SeT Uha B SR Ag-fafIy Wre it &1 STRT & &1 fafdy i HET ST

Options :

136480121, % ARG I
136480122. + W T UHdci fafd
136480123, # 3TER-TATRY THTIci
136480124, # QIYUT IS

Question Number : 31 Question Id : 13648031 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A method of collecting dietary data and using a context-specific food list to estimate the usual diet and
understand the relationship between consumption patterns and health outcomes is called:

Options :



136480121. # Health plan

136480122. ¥ Food frequency questionnaire method
136480123. # Diet-health questionnaire

136480124. * Nutrition plan

Question Number : 32 Question Id : 13648032 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YDA S Slsé\l ST (Recommended Dietary Allowances) (RDA) T Ugdll Yh0T g Ty yeTRId
fepam Tra ur?

Options :

136480125. # 1941
136480126. ¥ 1943
136480127. ® 1945
136480128. # 1947

Question Number : 32 Question Id : 13648032 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which year was the first edition of Recommended Dietary Allowances (RDA) published?
Options :

136480125. # 1941

136480126. ¥ 1943

136480127, % 1945

136480128. % 1947

Question Number : 33 Question Id : 13648033 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafafed 7 9 &1 W FRE a8 SR (fatty diarrhoea) BT T TTHT HRUT 82
Options :

136480129. # éaa\—ﬂ HYRIAI (Lactose intolerance)

136480130. ¢ IGRIT T (Celiac disease)

136480131, # SiQTO[ST 3R fAWTU] THHUT (Bacterial and viral infection)

136480132, * ﬂa’ﬁ\_ﬂ STHRIT (Sucrose intolerance)

Question Number : 33 Question Id : 13648033 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following factors is a common cause of fatty diarrhoea?
Options :

136480129. # Lactose intolerance



136480130. ¥ Celiac disease
136480131. * Bacterial and viral infection
136480132. # Sucrose intolerance

Question Number : 34 Question Id : 13648034 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

3id: PIRABT 5a B IS T T 82
Options :

136480133. ¢ BIhe 3R WA &1 I TR
136480134. % TIdhe 3R HHRMH & g TR
136480135. # ST 3R FARZS HT IA WR
136480136, # SZPHIEC BT I TR

Question Number : 34 Question Id : 13648034 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the chemical composition of intracellular fluid?
Options :

136480133. ¥ High level of phosphate and magnesium
136480134. # Low level of phosphate and magnesium
136480135. ® High level of sodium and chloride
136480136. * High level of bicarbonate

Question Number : 35 Question Id : 13648035 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g&H TN dedl § o1 AT gid 82
Options :

136480137, ¢ WfAsT 3R ferfim
136480138. * Haiglsgc R f[AfUs
136480139, # ST 3R UIEH
136480140, # f3eTfiF SiR FEERSC

Question Number : 35 Question Id : 13648035 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What do micronutrients comprise of?
Options :

136480137. ¥ Minerals and vitamins
136480138. * Carbohydrates and lipids
136480139. #® Water and protein



136480140. # Vitamins and carbohydrates

Question Number : 36 Question Id : 13648036 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Frafofed & 9 o, Rsiafivfa SRR % ggu=h 3 geore! & siuarg & fore Rrer §2
Options :

136480141, # §ag YAl

136480142, ¢ §ad AR

136480143, % HUHHRY Y]

136480144, # HUHY fRRTY

Question Number : 36 Question Id : 13648036 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is responsible for draining deoxygenated blood from myocardium into the cardiac
chambers?

Options :

136480141. * Coronary arteries
136480142. ¥ Coronary veins
136480143. # Pulmonary arteries
136480144. * Pulmonary veins

Question Number : 37 Question Id : 13648037 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I 1 el IR DT 3T 3R U (3G 3R YY) W H FAHIiord el 82
Options :

136480145, * gafAarf a@

136480146. % T dd

136480147. % 3IURY qd

136480148, ¢ fobsic] da

Question Number : 37 Question Id : 13648037 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which plane divides the body into an anterior and posterior (ventral and dorsal) portion?
Options :

136480145. # Sagittal plane

136480146. #* Median plane

136480147. # Transverse plane

136480148. ¥ Coronal plane



Question Number : 38 Question Id : 13648038 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ARTSH BT I T U T, TR 3R IrearaRat & fore fordeR 82
Options :

136480149. # YORTSH

136480150, # HRTSH WY

136480151. ¢ 3[IAKTSH

136480152, % Oi=g

Question Number : 38 Question Id : 13648038 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which part of the brain is responsible for balance, posture and equilibrium?
Options :

136480149. # Cerebrum

136480150. * Brain stem

136480151. ¥ Cerebellum

136480152. #* Pons

Question Number : 39 Question Id : 13648039 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3R 7B (inner canthus) ECIREEEAL (outer canthus) d& 3ia 3t ﬂ'cb—l_st DI 3%'-‘271 [ %?
Options :

136480153, # HI-ac &ifd &I AHT (To prevent corneal damage)

136480154, ¥ 3 IYUH HHHUI ARG (To prevent lacrimal punctum infection)

136480155. % UR YhHUI dGHT (To increase cross infection)

136480156, % XfeAT &ifd 1 ApT (To prevent retinal damage)

Question Number : 39 Question Id : 13648039 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the purpose of cleaning the eye from inner canthus to outer canthus?
Options :

136480153. # To prevent corneal damage

136480154. ¥ To prevent lacrimal punctum infection

136480155. # To increase cross infection

136480156. # To prevent retinal damage

Question Number : 40 Question Id : 13648040 Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

fepar 4URt 71 HUTS TU1 &=, SHehl, HIGURMET 3R BiEdT Pl THHH gl
Options :

136480157. % U [

136480158. # Uit 11

136480159. % Uit 111

136480160. ¢ U TV

Question Number : 40 Question Id : 13648040 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which grade of pressure sore causes damage to the skin, tissues, muscles and bones?
Options :

136480157. * Grade I

136480158. * Grade II

136480159. * Grade III

136480160. ¥ Grade IV

Question Number : 41 Question Id : 13648041 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TITaR01 W3l # GUR HRA o (o8 a8 URA A SRishH oI fbg g s fovan am um
Options :

136480161. ® 2010

136480162. # 2012

136480163. ¥ 2014

136480164. * 2016

Question Number : 41 Question Id : 13648041 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which year was the programme ‘Swachh Bharat Abhiyan’ started to improve environmental sanitation?
Options :

136480161. * 2010

136480162. * 2012

136480163. ¥ 2014

136480164. % 2016

Question Number : 42 Question Id : 13648042 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



TP Mo/ S @RI A SR & SIRIH &1 4 HRA o (AU, FHels A dd Gud db P QTe YolTell B
IR & T TR UeM #Ra1 g, & T Y ST ST ]

Options :

136480165. ¢ gSTS UATCIRI fohfedd deid Ulscd (HACCP)
136480166. # TI3HA HeAT Bicde (AMC)

136480167. # hige TR U Rad faffes (CARE)

136480168. # A db BR TIH R U ¥ SIAUHE (NABARD)

Question Number : 42 Question Id : 13648042 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A system which provides the framework for monitoring the total food system, from harvesting to
consumption, to reduce the risk of foodborne illness is called:

Options :

136480165. ¥ Hazard Analysis Critical Control Points (HACCP)

136480166. * Annual Maintenance Contract (AMC)

136480167. # Credit Analysis and Research Limited (CARE)

136480168. * National Bank for Agriculture and Rural Development (NABARD)

Question Number : 43 Question Id : 13648043 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR RS AT URIF &1 I dATTHM R S &1 UihaT T hedldl g2
Options :

136480169, ¢ HIHIHIUT
136480170, # HURCA

136480171, ¥ ¥ 1RTd
136480172, % TH:ThUT

Question Number : 43 Question Id : 13648043 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The process of burning hazardous material or waste at high temperature is called:
Options :

136480169. ¥ incineration

136480170. * composting

136480171. # landfills

136480172. # recycling

Question Number : 44 Question Id : 13648044 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafaiad & @ &9 91 3/@gd, SR & Tdd HFT H a8l g & YT SR STHIR & Tdd U &
I I TGP B! HUAAYdD g TR SR T /7

Options :

136480173, # Haldd &

136480174, % g Yarg ot fe=m

136480175, ¢ A faaRur a1 a1y vaTg Ued

136480176. % Hard- 3UTd

Question Number : 44 Question Id : 13648044 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following elements emphasizes the delivery of external air to each part of the space and the
removal of the airborne pollutants generated in each part of the space in an efficient manner?

Options :

136480173. #* Ventilation rate

136480174. # Airflow direction

136480175. ¥ Air distribution or airflow pattern
136480176. #* Ventilation ratio

Question Number : 45 Question Id : 13648045 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I T 3HT0ge HR faeT giaT 82
Options :

136480177. ® 16.015 g/mol
136480178. ® 17.015 g/mol
136480179. ¥ 18.015 g/mol
136480180. * 20.015 g/mol

Question Number : 45 Question Id : 13648045 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is the molecular weight of water?
Options :

136480177. # 16.015 g/mol
136480178. ® 17.015 g/mol
136480179. ¢ 18.015 g/mol
136480180. * 20.015 g/mol

Question Number : 46 Question Id : 13648046 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



faferfad 7 3 feg fiyd &) Sis a1 Uity Yag o1 firar Sy &g1 Sirar g2
Options :

136480181, # 2f¥ fayw

136480182. # &g fayd

136480183, # 3faRiT fayw

136480184, ¢ Tifaary fayw

Question Number : 46 Question Id : 13648046 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following hallucinations is called false perception of joint or muscle sense?
Options :

136480181. * Visual hallucination

136480182. # Gustatory hallucination

136480183. # Visceral hallucination

136480184. ¥ Kinaesthetic hallucination

Question Number : 47 Question Id : 13648047 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Tfafafe (Psychomotor activity) AT fRyfa afveror & ford gew 9§ Tafdd g2
Note: For this question, discrepancy 1s found in
question/answer. Full Marks is being awarded to all

candidates.
Options :
136480185, e
136480186, 3TARUT

136480187. Ugft

136480188, Td-T & TR

Question Number : 47 Question Id : 13648047 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Psychomotor activity belongs to which component of mental status examination?

Note: For this question, discrepancy 1s found in
question/answer. Full Marks 1s being awarded to all

candidates.
Options :



136480185. Appearance
136480186. Behaviour

136480187. Attitude

136480188. Level of consciousness

Question Number : 48 Question Id : 13648048 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

% R Fgfaied & @ o 3 faRivar sia dfea=s uem &t 82
Options :

136480189. % Teh b §IG Ueh AP §IH]

136480190, ¢ AT 3R fASiEHal Uh gax THE §

136480191, ¥ Uhidk HUR] U ATl Bi Jlaer

136480192, # B H 3T YA GR & =Y T gR gHI

Question Number : 48 Question Id : 13648048 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following features in a house provides cross ventilation?
Options :

136480189. # Constructing houses back-to-back

136480190. ¥ Doors and windows facing each other

136480191. # Having air-conditioning in alternate rooms

136480192. # Having openings as high inlets in the room

Question Number : 49 Question Id : 13648049 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
THd IRR A Fyfafad 3 9 {69 sieare TR (pleasure chemical) H&T SITAl 87
Options :

136480193. # ARUSHIAH
136480194, ¢ SUMHH

136480195, # pifcard
136480196, % TR

Question Number : 49 Question Id : 13648049 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is called a ‘pleasure chemical’ in the human body?
Options :

136480193. * Noradrenaline

136480194. ¥ Dopamine



136480195. #* Cortisol
136480196. * Epinephrine

Question Number : 50 Question Id : 13648050 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFofafed o 9 f6y g R gifeasd! & Tug, TR, il SR URdaRul # SiaRTST gamiaan
P ggral & o forg fSirg fovan mar 82

Options :

136480197. ¢ W@TW (International classification of disease)

136480198. % YT T TN HROT (Indian classification of disease)

136480199. # 3%y WY I grffezor (World health classification of disease)

136480200. ¥ 37T Td WY SRy (Classification of disease and health)

Question Number : 50 Question Id : 13648050 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is designed to promote international comparability in the collection, processing,
classification and presentation of mortality statistic?

Options :

136480197. # International classification of disease
136480198. # Indian classification of disease
136480199. # World health classification of disease
136480200. * Classification of disease and health

Question Number : 51 Question Id : 13648051 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T Bt TGRS 3R D HIAYUIC! BT T TRFeId YR -1 Hgarel 52
Options :

136480201, # TR T W g6 =g FAYRoT

136480202, # WRY-ANY JIdd

136480203, ¢ AHRTS fRufd afvemr

136480204, % HFRTS 1Y TRREfor

Question Number : 51 Question Id : 13648051 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A structured assessment of the patient's behavioural and cognitive functioning is called:
Options :

136480201. * General head to toe assessment

136480202. #* Health-illness continuum



136480203. ¥ Mental status examination
136480204. * Mental illness examination

Question Number : 52 Question Id : 13648052 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
uRafdd fasr @ g2

Options :

136480205. ¢ HATMHD ToS I T fd Tad! 1 ORI UHE § HH (Deficits in sensory or motor function

related to emotional conflict)
136480206. * ag?laﬁﬂ QRIRD & (Multisystem physical symptom)
136480207. # Uae AR HfTwddl & HRU &d

136480208. # TR U7 HIed-d RIND &Y & HRUT AT (Preoccupation with a real or

imagined physical defect)

Question Number : 52 Question Id : 13648052 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is conversion disorder?

Options :

136480205. ¥ Deficits in sensory or motor function related to emotional conflict
136480206. * Multisystem physical symptom

136480207. * Pain with strong psychological involvement

136480208. # Preoccupation with a real or imagined physical defect

Question Number : 53 Question Id : 13648053 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Teel-3thaRe fSARMT (Multi-infarct Dementia (MID) fdd% HRUI BIAT 82
Options :

136480209. # f&d BT ERT
136480210. # JIHRNY

136480211, ¢ THIUPH SATHTd
136480212, * ORfb~g-dl

Question Number : 53 Question Id : 13648053 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Multi-infarct Dementia (MID) is caused by:
Options :

136480209. # heart attack

136480210. * nephritis



136480211. ¥ multiple strokes
136480212. #* Parkinsonism

Question Number : 54 Question Id : 13648054 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ICD-DSM THIHRUN & SR, FAI-Tishd Uard & SUTNT & HRU ARG 3R FdeR datht AR
Y Geifa

Options :

136480213. ¥ F10-F19

136480214. * F20-F29

136480215. * F30-F39

136480216. # F40-F49

Question Number : 54 Question Id : 13648054 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

According to ICD-DSM classification, mental and behavioural disorders due to use of psychoactive
substance belong to:

Options :

136480213. ¥ F10-F19
136480214. #* F20-F29
136480215. # F30-F39
136480216. # F40-F49

Question Number : 55 Question Id : 13648055 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

ARl & Uil wfafsrarsiicar § fafgd &t $iR sl Qrgeith Ha1 § Wa: Ide SR fafafe o
G| FHgan gl

Options :

136480217. ® Iddcid

136480218, ¢ SITSHT

136480219. # <gdl

136480220, # HIH TR

Question Number : 55 Question Id : 13648055 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Marked decrease in reactivity to the environment and reduction of spontaneous movements and activity in
catatonic schizophrenia is:

Options :
136480217. # automatism



136480218. ¥ stupor
136480219, * rigidity
136480220. # waxy flexibility
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Number of Questions to be attempted :
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Question Number : 56 Question Id : 13648056 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g o TS YU i SRIATSOIRM &1 A Jead: gHaud SRR U 39 fear mam

Options :

136480221. * 1965
136480222. * 1978
136480223. ¥ 1985
136480224. % 1992

Question Number : 56 Question Id : 13648056 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Expanded programme on immunisation was renamed as Universal Immunization Programme in the year:

Options :

136480221. * 1965
136480222. # 1978
136480223. # 1985
136480224. % 1992

Question Number : 57 Question Id : 13648057 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

fa%y BT TawaT fGa¥ (World Hand Hygiene Day) Ufd a9 TS | T ST B
Options :

136480225. ¥ 5

136480226. * 15

136480227. * 25

136480228. * 30

Question Number : 57 Question Id : 13648057 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

World Hand Hygiene Day is observed every year on May.
Options :

136480225. ¥ 5th

136480226. # 15th

136480227. # 25th

136480228. # 30th

Question Number : 58 Question Id : 13648058 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GeASaNd sita & T+t =i (34fd, gt SR o] =4, 31 & qui faaid= a1 fa=m=r & ufdsar &t
HEI S|

Options :

136480229, ¢ TASTHIGRT

136480230. # fagjspHur

136480231, ® ¢aTs
136480232, % THTS

Question Number : 58 Question Id : 13648058 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A process of complete elimination or destruction of all forms of microbial life (i.e., both, vegetative and
spore forms) is called:

Options :

136480229. ¥ sterilisation
136480230. # disinfection
136480231. * washing
136480232. # cleaning

Question Number : 59 Question Id : 13648059 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

frafefed o @ o= It frar geaoial @ 78 ave ¥ AR <t € ok fidiftg ax et &2
Options :

136480233, % Tofbed 3Yfd (Medical asepsis)

136480234, ¢ el \WII%T (Surgical asepsis)

136480235. # IdwdI (Sanitation)

136480236, # TBTs (Cleaning)

Question Number : 59 Question Id : 13648059 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following practices completely kills and eliminates microorganisms?
Options :

136480233. # Medical asepsis

136480234. ¥ Surgical asepsis

136480235. # Sanitation

136480236. # Cleaning

Question Number : 60 Question Id : 13648060 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W1 FIR T 5919 F o {9 b &1 ST far siar g2
Options :

136480237. # BCG ¢Ih]

136480238, ¥ JCTAIRY 1]

136480239. ¥ HPV <11

136480240, ¥ MMR <11

Question Number : 60 Question Id : 13648060 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which vaccine is used to prevent cervical cancer?
Options :

136480237. #* BCG vaccine

136480238. # Rotavirus vaccine

136480239. ¥ HPV vaccine

136480240. * MMR vaccine

Question Number : 61 Question Id : 13648061 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Iad-STadd Ad fhadT Udh [afRIy defun g2




Options :

136480241, % HaRAT
136480242, % fSrhitfva
136480243, ¢ fagfeid1

136480244, ¥ BICT AT

Question Number : 61 Question Id : 13648061 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rice water stool is a characteristic symptom of:
Options :

136480241. * Malaria

136480242. * Diphtheria

136480243. ¥ Cholera

136480244. # Chicken pox

Question Number : 62 Question Id : 13648062 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFofied 7 3 ford SiaRIPHa TR W Sudsy fagfeT ST ogl o 67

Options :

136480245. ¥ SHRA
136480246, % SUCTAA

136480247, % faqifcw
136480248, # T=GCT

Question Number : 62 Question Id : 13648062 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Which of the following is called internationally available cholera vaccine?
Options :

136480245. ¥ Dukoral

136480246. * Daptacel

136480247. * Vivotif

136480248. * Menactra

Question Number : 63 Question Id : 13648063 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hifa® ¥ Y faar S ara THoid el faaa- e # 9 forgeT o gidr g2
Options :

136480249, # XT3 oId, T SR AT




136480250 % WS oId, 1§ 3R THEG
136480251, # =g &1 T, T 3R THS
136480252, ¢ X5 OId, AT 3R THEB

Question Number : 63 Question Id : 13648063 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Oral Rehydration Solution is a mixture of:
Options :

136480249. # clean water, sugar and lemon
136480250. # clean water, lemon and salt
136480251. # lime extract, sugar and salt
136480252. ¥ clean water, sugar and salt

Question Number : 64 Question Id : 13648064 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o #, aRus SAwisieEe Ufded gid § 3R f5 ST e o sRasdr o 4T &vd § auT
HITAHT T BT HRUT T 872

Options :

136480253. ¢ TNEADIRIPBT (Erythrocytes)

136480254, # AT (Leukocytes)

136480255. # dQTU] (Platelets)

136480256, ¥ TATfAehT (Plasma)

Question Number : 64 Question Id : 13648064 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In malaria, mature trophozoites replicate and disrupt which cell membrane integrity and cause cell lysis?
Options :

136480253. ¥ Erythrocytes

136480254. #* Leukocytes

136480255. # Platelets

136480256. * Plasma

Question Number : 65 Question Id : 13648065 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g wrAfsan yenfa & SR Il SR gar g?

Options :
136480257. # @GHIISTH A3 (Plasmodium vivax)

136480258, # @GHITSTH ThfequRH (Plasmodium falciparum)




136480259. # WGHISTH 3Iad (Plasmodium ovale)
136480260. ¥ WIGHISTH HANRAT (Plasmodium malariae)

Question Number : 65 Question Id : 13648065 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which plasmodium species cause Quartan fever?
Options :

136480257. # Plasmodium vivax

136480258. # Plasmodium falciparum
136480259. # Plasmodium ovale

136480260. ¥ Plasmodium malariae

Question Number : 66 Question Id : 13648066 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B TEHTA Teh TR HHRY aTcl Safe, foreds Sita o1 Sid BRI 311381 &, BT SIHT, SR 3R
S &1 Tural IR FHiad 82

Options :

136480261, # TRMHE ¢@HTA (Palliative care)

136480262. ¢ YHITAT SAHTA (Hospice care)

136480263, % AU®H G@HT (Comprehensive care)

136480264, # THRIATHS G@HTA (Holistic care)

Question Number : 66 Question Id : 13648066 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which care focuses on the care, comfort and quality of life of a person with a serious illness and who is
approaching the end of life?

Options :

136480261. # Palliative care
136480262. ¥ Hospice care
136480263. #* Comprehensive care
136480264. * Holistic care

Question Number : 67 Question Id : 13648067 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3fa:fawg urufiies e Aisd # 39 (GRACE) &1 JUI U 37 82

Options :

136480265. #* The Geriatric Rehabilitation and Assessment of Care of Elders (GRACE) (& ﬁf\’\’ﬂm

RedlcliceH T8 sRIGHE 31 HIR 1 Teed) (F9)




136480266. ¥ The Geriatric Resources for the Assessment and Care of Elders (GRACE) (& ﬁﬁw
RIS BR g 3RHE U8 IR 31 Tead) ()

136480267. # The General Rehabilitation Assessment and Care of Elders (GRACE) (& S-Rd frgteitew
3ATHE TS B 3TH Teey)

136480268. #* The General Research for the Assessment and Care of Elders (GRACE) (& STRd o iR

T 3THc U8 IR 3 TEY) (J9)

Question Number : 67 Question Id : 13648067 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the expansion of GRACE in interdisciplinary primary care models?

Options :

136480265. # The Geriatric Rehabilitation and Assessment of Care of Elders (GRACE)
136480266. ¥ The Geriatric Resources for the Assessment and Care of Elders (GRACE)
136480267. * The General Rehabilitation Assessment and Care of Elders (GRACE)
136480268. * The General Research for the Assessment and Care of Elders (GRACE)

Question Number : 68 Question Id : 13648068 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3¢ yde § e 7 Q 619 91 RIS IUER i 81 22
Options :

136480269. ¥ & (AaR®

136480270. ¢ Xfad Oes, ATfer

136480271, % JaIAY

136480272. % Rciede Rt 3R eam=

Question Number : 68 Question Id : 13648068 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The physical therapies in pain management include:
Options :

136480269. #* pain medicines

136480270. ¥ cold packs, massages

136480271. # acupuncture

136480272. # relaxation therapies and meditation

Question Number : 69 Question Id : 13648069 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RIURF T8 & IUAR & [o1T B AT 30efT U YT 52

Options :



136480273, # AM-TR(TSA US-ShiHC ST
136480274, ¢ TR ARTUAHA Aucd 3lgfde
136480275. # UCl-gfdidfis

136480276. # UaRNfcH

Question Number : 69 Question Id : 13648069 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which pharmacologic measure is effective for treating neuropathic pain?
Options :

136480273. # Non-steroidal anti-inflammatory drug

136480274. ¥ Serotonin norepinephrine reuptake inhibitors

136480275. # Anti-helminthics

136480276. #* Antibiotics

Question Number : 70 Question Id : 13648070 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST feegivor Hifd, 2006 1 el T UT?

Options :

136480277, ¢ feaaieiAl o1 IR, e iR anffe grafg
136480278, # fEaTIToHI HT ARG, AFRIG 3R AHISSG a1
136480279. % feoTiToAl o7 AR, HAATG 3R Hefds gary
136480280. # faaaiTerl &1 IR, AAaTIA® 3R 3ffe gafyg

Question Number : 70 Question Id : 13648070 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What was the goal of National Policy For Persons With Disabilities, 20067

Options :

136480277. ¥ Physical, educational and economic rehabilitation of persons with disabilities
136480278. * Physical, mental and social rehabilitation of persons with disabilities
136480279. # Physical, psychological and spiritual rehabilitation of persons with disabilities
136480280. #* Physical, psychological and economic rehabilitation of persons with disabilities

Question Number : 71 Question Id : 13648071 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ol qdg R T ST aTell Q-PIIQ!:HQ“ Wm%‘?
Options :

136480281, # Yfcsitat
136480282 ¢ fcRiel




136480283, # HTIRIN
136480284, # [a9hTHD

Question Number : 71 Question Id : 13648071 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Germicide applied on a living surface is called:
Options :

136480281. * antibiotics

136480282. ¥ antiseptics

136480283. # antitussives

136480284. # disinfectants

Question Number : 72 Question Id : 13648072 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafaiead & 9 o At I Heia cgaRe o URIEoT foeam ST anfge?
Options :

136480285. # iU

136480286, ¢ 3fdcddg

136480287, # 3=:IRRT

136480288, # 3D

Question Number : 72 Question Id : 13648072 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mantoux tuberculin test should be administered through which of the following routes?
Options :

136480285. # Intra muscular

136480286. ¥ Intra dermal

136480287. # Intra venous

136480288. * Subcutaneous

Question Number : 73 Question Id : 13648073 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R Y T oy U d fdfshar 71 Heard! g2
Options :

136480289. # fafei (bizarre)

136480290. ¢ TITHT (augmented)

136480291, # Jdq &g B T (end of use)



136480292. # UTd (failure)

Question Number : 73 Question Id : 13648073 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Dose-related adverse drug reaction is called:
Options :

136480289. # bizarre

136480290. ¥ augmented

136480291. # end of use

136480292. # failure

Question Number : 74 Question Id : 13648074 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

aT%Wlaa?ﬁ (Vasopressors) 3 3Me TR _E?I?f % IKEEA] B'qtﬁ"T_ & 1%111 forar Srdr %‘?
Options :

136480293. # §g (&N (CO) 3R &fg® arfed g UfeRiY (SVR) & HH! 3

136480294, ¢ §S [T (CO) 3R ew anfieaia ufeRkie (SVR) H gfg w3

136480295. # T YT 14 (MAP) H HH HA

136480296. # 3T T gd (%M § Hl HA

Question Number : 74 Question Id : 13648074 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Vasopressors are medications that are used to:

Options :

136480293. # decrease cardiac output (CO) and systemic vascular resistance (SVR)
136480294. ¥ increase cardiac output (CO) and systemic vascular resistance (SVR)
136480295. # decrease mean arterial pressure (MAP)

136480296. # decrease perfusion to organs

Question Number : 75 Question Id : 13648075 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HISTed (Sotalol) TH SCTAUB g & HIAYBRAT S
Options :

136480297, # Hfcxraw ®& YU (calcium channel of the heart)
136480298, ¢ TICTRAH &< YUITCT (potassium channel of the heart)
136480299, % BT B < YUl (magnesium channel of the heart)
136480300. * fSib g UM (zinc channel of the heart)



Question Number : 75 Question Id : 13648075 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sotalol is a beta blocker that blocks the:
Options :

136480297. # calcium channel of the heart
136480298. ¥ potassium channel of the heart
136480299. #* magnesium channel of the heart
136480300. * zinc channel of the heart

Question Number : 76 Question Id : 13648076 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
fafaiad 7 @ o te golig &ifta da1 32
Options :

136480301. ¢ =ddll

136480302. # feTiifvar

136480303, % ¢ed

136480304, % gUCISICT B

Question Number : 76 Question Id : 13648076 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a live attenuated vaccine?
Options :

136480301. ¥ Rubella

136480302. # Diphtheria

136480303. # Tetanus

136480304. # Hepatitis B

Question Number : 77 Question Id : 13648077 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e R WYHe IU=R UeH w99 g o @ o 3 frar @ se=r @ik
Options :

136480305, # STcl U RIH TR 981 o ST U

136480306. # 31 HUSI DI g U S SIell g5 @l ¥ [OUD a1 §

136480307. ¢ STdl U I R 6 T

136480308, # A7ft I THA TR TGHT HR 3T B AU & g1 I

Question Number : 77 Question Id : 13648077 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Which of the following actions should be AVOIDED while providing first aid for burns?
Options :

136480305. * Pour running water over the area

136480306. * Remove clothing that is not stuck to the burned skin

136480307. ¥ Apply ice over the burnt area

136480308. * Extinguish flames by allowing the patient to roll on the ground

Question Number : 78 Question Id : 13648078 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafafed 7 9 & 1 [dee T ga- ard Tifsd &1 Yo el 82
Options :

136480309. * ﬂ?ﬂ?ﬁq (Loss of consciousness)

136480310. # Y = 3T (No breathing)

136480311. # g g¥dlcldl CERIl (Cardiac dysrhythmias restlessness)

136480312, ¢ JNUfthad ! A fohdT 9ex 3R 818! &1 TaTal 81 STHT (Normal function of surfactant
face and lips are pink)

Question Number : 78 Question Id : 13648078 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT a sign of a drowning victim?
Options :

136480309. # Loss of consciousness

136480310. #* No breathing

136480311. * Cardiac dysrhythmias restlessness

136480312. ¥ Normal function of surfactant face and lips are pink

Question Number : 79 Question Id : 13648079 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S SHET & HRUT @dl IR FIa AR ATdt F=I @18 <d 8, 41 376 1 gl o1l g2
Options :

136480313, ¢ WRId

136480314, # SHdbha™

136480315. % THRM

136480316. % gfiag

Question Number : 79 Question Id : 13648079 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



When black and blue marks appear on skin due to trauma, they are called:
Options :

136480313. ¥ bruises

136480314. * necrosis

136480315. * lanugo

136480316. * vernix

Question Number : 80 Question Id : 13648080 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
faSTedr & IuER H AishRd aR®I & 1 il ]2

Options :

136480317, # TH YA UfdP RS & =0 | BT BT §
136480318, # TH JUWRIIEN & Y H B4 Hdl g
136480319, ¢ Iad H fau & 3R 3G=NYUT &I bl &
136480320. # U YTHG & ®U H B S o

Question Number : 80 Question Id : 13648080 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the role of activated charcoal in the treatment of poisoning?
Options :

136480317. # Acts as an effective antidote

136480318. # Acts as an antiepileptic

136480319. ¥ Stops further absorption of poison into the blood
136480320. # Acts as a sedative

Question Number : 81 Question Id : 13648081 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafoied & @ 1 1 fauT] JEERIY H1 HRUT 61 82
Options :

136480321, # JICTARRY (Rotavirus)

136480322, ¢ SUIUSI fAWTY] (Influenza virus)
136480323, ¥ TF&! fAWIT] (Adeno virus)

136480324. # TSI fANIY (Astro virus)

Question Number : 81 Question Id : 13648081 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following viruses does NOT cause gastroenteritis?
Options :



136480321. #* Rotavirus
136480322. ¥ Influenza virus
136480323. # Adeno virus
136480324. # Astro virus

Question Number : 82 Question Id : 13648082 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

m qur H %ﬁ']ﬁ%ﬂf{ trr‘s’ﬁ?ﬁ (Helicobacter pyroli) GIRT @3@ O a1 fay &t CREIG] ﬂ%m I
Options :

136480325. ¥ COX — 1

136480326. * XagA/XavB

136480327. ¥ CagA/VacA

136480328. # FagB/FavB

Question Number : 82 Question Id : 13648082 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the toxin that is released by Helicobacter pyroli in peptic ulcer.
Options :

136480325. # COX — 1

136480326. # XagA/XavB

136480327. ¥ CagA/VacA

136480328. # FagB/FavB

Question Number : 83 Question Id : 13648083 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1A Iqe § U fire o= o3 arell WISHT &1 JEl 31 Hgall g2
Options :

136480329, ¥ HRIGRAGD FRIGH &

136480330. # JahId WITGH TdTg

136480331. # Jahiy Idd U8

136480332. # Y[ ARG qId

Question Number : 83 Question Id : 13648083 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The amount of plasma entering into Bowman'’s capsule per minute is called:
Options :

136480329. ¥ glomerular filtration rate

136480330. * renal plasma flow



136480331. * renal blood flow
136480332. * net filtration pressure

Question Number : 84 Question Id : 13648084 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

HIH WRUAMY BT IUTR [HYhT IGANT HRb foh a1 o Teball 82
Options :

136480333, % SIHICd (Donnatal)

136480334, ¢ HIHHISIA (Fluconazole)

136480335. # TIHYUTR (Promethazine)

136480336. # E|°—|_®|'T'ﬁa,'CI'IE_"T(Carbamazepine)

Question Number : 84 Question Id : 13648084 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fungal laryngitis can be treated by using:
Options :

136480333. # Donnatal

136480334. ¥ Fluconazole

136480335. # Promethazine
136480336. # Carbamazepine

Question Number : 85 Question Id : 13648085 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T THoId IR RrTH A1 1 fUdr YT & g1 SI1dT 8, 7 Shedrdl g2
Options :

136480337, # fgursdfa sifdgan (bilateral atresia)

136480338. ¢ URIATT gdR Sfesed (choanal atresia)

136480339, % =TT UITeTT (nasal polyps)

136480340. # Ui AT UC (deviated nasal septum)

Question Number : 85 Question Id : 13648085 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A congenital disorder in which the back of the nose is closed is called:
Options :

136480337. * bilateral atresia

136480338. ¥ choanal atresia

136480339. # nasal polyps

136480340. # deviated nasal septum
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Question Number : 86 Question Id : 13648086 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FUIY § qigRAer it Fgd 82

Options :

136480341, ¥ 31 & STIR SIS B HH G
136480342, # TdTs & TR HUR HT HH G
136480343, ¥ 3 & HTAR YR BT HH I
136480344, # 3ffAUR BT

Question Number : 86 Question Id : 13648086 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is called ‘stunting’ in malnutrition?
Options :

136480341. ¥ Low height for age
136480342. #* Low weight for height
136480343. #* Low weight for age
136480344. #* Over weight

Question Number : 87 Question Id : 13648087 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

18 3R 24 TEH & F=! & forg 3R ThsHt i difsaresy gr1 Fufafaa & @ & It fasrias
ST Y SR B T B2

Options :




136480345, # TG AT (Parkinson disease)

136480346, ¥ XGURTIUI] {‘CIGQH fApR (Autism spectrum disorder)

136480347. % 3T fd®R (Learning disorder)

136480348, % &HIHTG 3ffcfehadm fabR (Attention deficit hyperactive disorder)

Question Number : 87 Question Id : 13648087 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following developmental screenings is recommended by American Academy of Pediatrics for
children at 18 and 24 months?

Options :

136480345. * Parkinson disease

136480346. ¥ Autism spectrum disorder
136480347. # Learning disorder

136480348. # Attention deficit hyperactive disorder

Question Number : 88 Question Id : 13648088 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR & 916 G & 3feR @S o arell SISt Gbg it o1 dgardt g2
Options :

136480349. % T feil (Mongolian spots)

136480350. ¢ HIT@ID fo=it (Koplik spots)

136480351. # YRIGR el (striae spots)

136480352. # 3@ fxit (linea spots)

Question Number : 88 Question Id : 13648088 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tiny white spots that appear inside the mouth following measles are called:
Options :

136480349. #* Mongolian spots

136480350. ¥ Koplik spots

136480351. #* striae spots

136480352. # linea spots

Question Number : 89 Question Id : 13648089 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 3y # TS [ & URea Rigia & fafefaa & 9 fege feuur fevar sirar g2

Options :
136480353, ¥ 3EDHR Sl I A= (Ego integrity vs despair)




136480354, % Ugd S0 SORTY Y (Initiative vs guilt)
136480355. ¢ URYH/ITH §-TH g1 HIaI (Industry vs inferiority)
136480356, # Ay S99 3fAYTT (Trust vs mistrust)

Question Number : 89 Question Id : 13648089 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is represented in Erikson theory of psychosocial development at school age?
Options :

136480353. # Ego integrity vs despair

136480354. # Initiative vs guilt

136480355. ¥ Industry vs inferiority

136480356. # Trust vs mistrust

Question Number : 90 Question Id : 13648090 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WIS & SIAR THdl 31 & S| (B8 a4 I AGRY ddh) BT AAIC 1 (b T BIell 82
Options :

136480357. % T 3wl

136480358. ® Tg-3dYT

136480359, + HIHUYCT SARIT

136480360, # ST AT

Question Number : 90 Question Id : 13648090 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the psychosexual development of school age children (six years to puberty) according to Freud?
Options :

136480357. # Oral stage

136480358. #* Anal stage

136480359. ¥ Latency stage

136480360. * Genital stage

Question Number : 91 Question Id : 13648091 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIF T ST AW, 49 3 & W Sddh! &1 IR <dl § 3R Th I HIT BT Fe freait s 82

Options :

136480361. * WWW@H (Mycobacterium tuberculosis)
136480362. # BfIpIdder OISR (Helicobacter pylori)



136480363. # fAfa BITRT (Vibrio cholerae)
136480364. ¢ PIRASaeaH fsrifear (Corynebacterium diphtheria)

Question Number : 91 Question Id : 13648091 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Which bacterial toxin kills healthy tissues of the respiratory system and forms a grey coating pseudo
membrane?

Options :

136480361. #® Mycobacterium tuberculosis
136480362. * Helicobacter pylori
136480363. * Vibrio cholerae

136480364. ¥ Corynebacterium diphtheria

Question Number : 92 Question Id : 13648092 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PO UPR & Yo my (hepatitis) DI IRA R | /mY (serum hepatitis) PgI SITdl %?
Options :

136480365. % P MY A (Hepatitis A)

136480366. ¥ TP [MYU B (Hepatitis B)

136480367. # P MY C (Hepatitis C)

136480368. % TP [MYU D (Hepatitis D)

Question Number : 92 Question Id : 13648092 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which type of hepatitis is called serum hepatitis?
Options :

136480365. # Hepatitis A

136480366. ¥ Hepatitis B

136480367. # Hepatitis C

136480368. #* Hepatitis D

Question Number : 93 Question Id : 13648093 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DI T m&[ Tep AU R (cysticercosis) T PRU[ gl %?
Options :

136480369, ¢ AT TIfTIH (Taenia solium)

136480370. # Afar AfSHTeT (Taenia saginata)

136480371, # 0T URMAICHT (Taenia asiatica)



136480372. # Y01 AfBeT (Taenia safita)

Question Number : 93 Question Id : 13648093 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which tapeworm infection causes cysticercosis?
Options :

136480369. ¥ Taenia solium

136480370. * Taenia saginata

136480371. * Taenia asiatica

136480372. * Taenia safita

Question Number : 94 Question Id : 13648094 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o o T SifaRad UiAfte<or SIS HA&T &1 HRUT I-1dT 52
Options :

136480373, * TURIA 16

136480374, % T[UIRYA 18

136480375. # TURTA 20

136480376. ¥ T[UIRTA 21

Question Number : 94 Question Id : 13648094 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The extra copy of which gene causes Down syndrome?
Options :

136480373. # Chromosome 16

136480374. # Chromosome 18

136480375. # Chromosome 20

136480376. ¥ Chromosome 21

Question Number : 95 Question Id : 13648095 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

foforRad & @ 1 a1 fadey a1 &1 Ja0r T81 82

Options :
136480377, % [
136480378, % TG o H HidTs

136480379. ¥ RSP

136480380, ¢ XY AN b AP RO



Question Number : 95 Question Id : 13648095 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT a symptom of asthma?

Options :

136480377. #® Coughing

136480378. ® Shortness of breath
136480379. # Wheezing
136480380. ¥ Dilation of the airways
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Question Number : 96 Question Id : 13648096 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

e § § 1 I1 HIeT TRAfd BT Srad! 4T 82

Options :
136480381, # HH (Mentum)

136480382, # T 3R ULHUTA BT AFAUIR (Hyperextension of the neck and occiput)
136480383. ¢ 3 HATRIA 3R Hefig dHed! & oiF BT HAT (Between anterior fontanelle and orbital

ridges)

136480384, #* W uqef (Acromion process)

Question Number : 96 Question Id : 13648096 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is the leading part in brow presentation?

Options :
136480381. # Mentum



136480382. #* Hyperextension of the neck and occiput
136480383. ¥ Between anterior fontanelle and orbital ridges
136480384. # Acromion process

Question Number : 97 Question Id : 13648097 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

ATEG T & RMAE ST 3R e U & dig a7 ad S BE &l BT ol g
Options :

136480385, ¢ S Ia

136480386. # P gard

136480387. # IRRJMID da

136480388, ¥ Jedl derd

Question Number : 97 Question Id : 13648097 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A transverse groove formed between the upper and lower uterine during obstructed labour is called:
Options :

136480385. ¥ Bandl’s ring

136480386. # constriction ring

136480387. # physiological ring

136480388. #* amniotic ring

Question Number : 98 Question Id : 13648098 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ut Hafd 31 8?

Options :

136480389, ¢ T1% &% @og AT &1 JUIe (Compression of the lateral femoral cutaneous nerve)
136480390. ¥ T Tfh] BT TUie- (Compression of the median nerve)

136480391, # 3 dRABT BT AU (Compression of the sciatic nerve)

136480392, % YWl 3R BTY & dfAT BT TUST (Compression of the nerve to the arm and hand)

Question Number : 98 Question Id : 13648098 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is Meralgia Paraesthetica?

Options :

136480389. ¥ Compression of the lateral femoral cutaneous nerve
136480390. * Compression of the median nerve

136480391. # Compression of the sciatic nerve



136480392. # Compression of the nerve to the arm and hand

Question Number : 99 Question Id : 13648099 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

HIRAT Afdey (carcinoma cervix) P! fobq SawT d W, %ﬁﬁr, HARKY 3R HAT ¥ 3 I Ta
ST &2

Options :

136480393. # AT

136480394, # 3{ARTII

136480395. % 3{AXYT 111

136480396. ¥ AR IV

Question Number : 99 Question Id : 13648099 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which stage of carcinoma cervix does the cancer spread beyond the pelvis, bladder and rectum?
Options :

136480393. # Stage I

136480394. # Stage II

136480395. # Stage III

136480396. ¥ Stage IV

Question Number : 100 Question Id : 136480100 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gAradt T B 3R fhg =g & +ft S ST 82
Options :

136480397. # 3afkges Murd

136480398, ¥ T: T: THUTd

136480399, ¥ TUI THUTG

136480400. % 3(quf THUTG

Question Number : 100 Question Id : 136480100 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Recurrent miscarriage is also known as:
Options :

136480397. # preterm abortion
136480398. ¥ habitual abortion
136480399. # complete abortion
136480400. * incomplete abortion



Question Number : 101 Question Id : 136480101 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YT &1 9183 IRd &) R Fed 82
Options :

136480401, # 3ATUTIHET (Endometrium)
136480402, ¢ TRATHIRIT (Perimetrium)
136480403, # YT URMRAR (Myometrium)

136480404, % TOACTH (Epimetrium)

Question Number : 101 Question Id : 136480101 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is the outer layer of the uterus called?
Options :

136480401. * Endometrium

136480402. ¥ Perimetrium

136480403. # Myometrium

136480404. * Epimetrium

Question Number : 102 Question Id : 136480102 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Td I SR & SR, THI Pt ARURA] §aydd IeRdeidig ik gidrgl
Options :

136480405, # THel g3 Iad algdmISi &1 RIfdeH

136480406. * TR YadTd

136480407. ¥ el g 394 dlfg 13l &1 Yuie

136480408, * fdgpfaea aad &1 fAafr

Question Number : 102 Question Id : 136480102 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During the third stage of labour, the uterine muscles contract powerfully and lead to:
Options :

136480405. # relaxation of the torn blood vessels

136480406. * profuse bleeding

136480407. ¥ compression of the torn blood vessels

136480408. # formation of pathological ring



Question Number : 103 Question Id : 136480103 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i ) wifdes git gt 22
Options :

136480409. * TR (extension)
136480410. ¢ \HW (flexion)
136480411. % 3{GRIGUT (descent)
136480412. #* HI3 (crowning)

Question Number : 103 Question Id : 136480103 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The universal attitude of the foetus is:
Options :

136480409. # extension

136480410. ¥ flexion

136480411. * descent

136480412. # crowning

Question Number : 104 Question Id : 136480104 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TUITRIT & SR I H SIaH &1 71 HRUT GIal 87

Options :

136480413. ¢ JTHIcH H TS0 bl Ydlde - (Regurgitation of stomach acids into the oesophagus)
136480414, # fUT BT 3fePH AT (Excess secretion of bile)

136480415, % E@maﬁ@m (Hyperemesis gravidarum)

136480416. # 3I(UD YSH (Excessive palpitation)

Question Number : 104 Question Id : 136480104 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the reason of heartburn during pregnancy?

Options :

136480413. ¥ Regurgitation of stomach acids into the oesophagus
136480414. # Excess secretion of bile

136480415. # Hyperemesis gravidarum

136480416. #* Excessive palpitation

Question Number : 105 Question Id : 136480105 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :



Correct Marks : 4 Wrong Marks : 1

3{I<d deh DI GfeahT TTaRIT HF 3R Bl &7

Options :

136480417. % TATT W& (LH peak) P 10-12 < &1
136480418, ¢ 31Tdd & UG g ¥ 3MRY Bl SRl b
136480419. # TATT TS (LH surge) & 14 fgT 918
136480420. # &R & 14 fa a1

Question Number : 105 Question Id : 136480105 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When does the follicular phase of menstrual cycle begin?

Options :

136480417. # 10-12 hours after the LH peak

136480418. ¥ Begins from the first day of menses until ovulation
136480419. # 14 days after LH surge

136480420. #* 14 days after ovulation

Question Number : 106 Question Id : 136480106 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fEaom | srfREiffusH FIgTRRY sIRmyA yafisdrdied . HERME BT &
Options :

136480421, # 3fTid

136480422, ¢ TST&RTT

136480423, % 8T

136480424, % 3MRIYU]

Question Number : 106 Question Id : 136480106 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In oogenesis, the resumption of meiotic division and release of first polar body occur during:
Options :

136480421. #* menstruation

136480422. ¥ ovulation

136480423. # fertilisation

136480424. % implantation

Question Number : 107 Question Id : 136480107 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

fgfafad # 9 fg Tud gifon (flat pelvis) WTGHHT%?



Options :

136480425, % 3{SaHHT MO (Gynaecoid pelvis)
136480426, # T HIf0T (Anthropoid pelvis)
136480427. # Gdd SO (Android pelvis)

136480428, ¢ WICUGAZS ST (Platypelloid pelvis)

Question Number : 107 Question Id : 136480107 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is called flat pelvis?
Options :

136480425. #* Gynaecoid pelvis
136480426. #* Anthropoid pelvis
136480427. # Android pelvis

136480428. ¥ Platypelloid pelvis

Question Number : 108 Question Id : 136480108 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T4 (foetus) BT TR THafY foramit it 82

Options :

136480429. # 3ifdH LMP & Ugd fa ¥ @+ 220 &
136480430. # 3{fdH LMP & Ugdl fa I @1 240 faa
136480431, % 3{fdH LMP & Ugd o o @4 260 e
136480432, ¢ 3ifdHd LMP & Ugd fa | THT 280 faA

Question Number : 108 Question Id : 136480108 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

What is the normal gestational age of a foetus?

Options :

136480429. # About 220 days from the first day of last LMP
136480430. #* About 240 days from the first day of last LMP
136480431. #* About 260 days from the first day of last LMP
136480432. ¥ About 280 days from the first day of last LMP

Question Number : 109 Question Id : 136480109 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YOI &1 4ig Igfa 8, RR ST gl

Options :

136480433, % TUf 3{Tpa o



136480434, % U fawqial &

136480435. ¢ U1 3T 3R YU faw]d o &
136480436. # 3{ifRreh 3fTpa o

Question Number : 109 Question Id : 136480109 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In brow presentation of a foetus, the head lies:
Options :

136480433. # in complete flexion

136480434. # in complete extension

136480435. ¥ between full flexion and full extension
136480436. #* in partial flexion

Question Number : 110 Question Id : 136480110 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 & ¥ DIF Wil 1 Th S o1 o7

Options :

136480437. # 3T 3R UV dcd USH BT (Provide oxygen and nutrients)
136480438, # 37OV DI ST (Removes waste)

136480439, % BTHAM I@TET (Produce hormones)

136480440. ¢ TGOS RY (Galactopoiesis)

Question Number : 110 Question Id : 136480110 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT a function of placenta?
Options :

136480437. #* Provide oxygen and nutrients
136480438. #* Removes waste

136480439. # Produce hormones

136480440. ¥ Galactopoiesis

Question Number : 111 Question Id : 136480111 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

E{Qf (show) RIT Eh?ﬂ %‘?

Options :

136480441, % GuyH Y T (First foetal movement)

136480442, + IASAT o TTY THIT Yad &1 BT (Expulsion of blood mixed with mucus)



136480443, # AR 3MMRAUT (Engagement of head)
136480444, % faSI-U-CM (Vis-a-tergo)

Question Number : 111 Question Id : 136480111 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

What is show?

Options :

136480441. * First foetal movement

136480442. ¥ Expulsion of blood mixed with mucus
136480443. * Engagement of head

136480444, # Vis-a-tergo

Question Number : 112 Question Id : 136480112 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
APGAR &1 U U F1 g2
Options :
136480445. # Appearance, pulse, grimace, activity and reflex (Gim , U, oY, ufdefadt te W)
136480446. ¥ Appearance, pulse, grimace, activity and respiration (G‘Fcﬁ?ﬁﬂ , U, ﬁﬁ?{, m—cﬁ Us
)
136480447. # Appearance, pulse, grimace, amnion and respiration (&W, U, ﬁﬁﬂ, Q'J:Iﬁ\’rn:[ Us
)
136480448. # Active crying, pulse, grimace, activity and respiration (T{f%a hTST, U, ﬁﬁ?{, m

TS XRTM)

Question Number : 112 Question Id : 136480112 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the full form of APGAR?

Options :

136480445. # Appearance, pulse, grimace, activity and reflex
136480446. ¥ Appearance, pulse, grimace, activity and respiration.
136480447. ¥ Appearance, pulse, grimace, amnion and respiration

136480448. # Active crying, pulse, grimace, activity and respiration

Question Number : 113 Question Id : 136480113 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qg T Iedold JaHid (AFT) fbdT gl g2
Options :

136480449, % 5 cm I 10 cm




136480450. # 5 cm A 20 cm
136480451. ¢ 5 cm I 25 cm
136480452, % 5 cm T 35 cm

Question Number : 113 Question Id : 136480113 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the normal amniotic fluid index (AFI)?
Options :

136480449. #* 5 cmto 10 cm

136480450. #* 5 cm to 20 cm

136480451. ¥ 5 cm to 25 cm

136480452. # 5 cmto 35 cm

Question Number : 114 Question Id : 136480114 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

THTR a1 & fIEpROT & foHT THIGRIT & GRM geobl, 3Afid, qéfed dPpa Foamai sl
Note: For this question, discrepancy is found in
question/answer. Full Marks 1s being awarded to all
candidates.

Options :

136480453. e lU (lightening)

136480454, SeRTe fead P (Braxton Hicks contraction)
136480455, ARATd% UHd (true labour)

136480456, Tl U9d (false labour)

Question Number : 114 Question Id : 136480114 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Mild, irregular, painless contraction during pregnancy without dilatation of cervix is called:

Note: For this question, discrepancy 1s found in
question/answer. Full Marks 1s being awarded to all

candidates.

Options :

136480453. lightening

136480454. Braxton Hicks contraction
136480455. true labour



136480456. false labour

Question Number : 115 Question Id : 136480115 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TYH T4 Yoo 1 hedrdl 22
Options :

136480457, % SaIcH IRESES P (Braxton Hicks contraction)

136480458, # TR (show)
136480459. # GchIU- (lightening)

136480460. ¢ YUY THTET (quickening)

Question Number : 115 Question Id : 136480115 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
First foetal movement is called:
Options :

136480457. * Braxton Hicks contraction

136480458. #* show
136480459. #* lightening
136480460. ¥ quickening
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Question Number : 116 Question Id : 136480116 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFofafed 3 9 oF a1 dF TR &1 te I 8 3R WIh 3™gHe & foru I bt Uiife RIfT wR

Higd grarg?



Options :

136480461, ¢ Ufaeue AR
136480462, % IIATHD AR
136480463, % TTuftres aRfT
136480464, # T TRy AR

Question Number : 116 Question Id : 136480116 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a modification of team nursing and focuses on the patient's geographic location for
staff assignments?

Options :

136480461. ¥ Modular nursing
136480462. #* Holistic nursing
136480463. #* Primary nursing
136480464. * Village health nursing

Question Number : 117 Question Id : 136480117 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Trfeyes TR R R2

Options :

136480465, # T drigd AR

136480466, ¢ RN 3R SWHTA BT AR
136480467. % TGP WY JdTU

136480468, # TTH TTRY ARYT

Question Number : 117 Question Id : 136480117 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is primary nursing?

Options :

136480465. # Human centred nursing

136480466. ¥ Continuity of nursing and care delivery
136480467. # Community health services
136480468. * Village health nursing

Question Number : 118 Question Id : 136480118 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Il & aRafde Ve A & 1Y 3 I8 A BT A B4 o1 T fAfy FHea gl

Options :



136480469, # Wi b1
136480470, ¢ i TATIA
136480471, # o4 UA
136480472, # 3{TATD LI

Question Number : 118 Question Id : 136480118 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A method of tallying the up-to-date book balance with the actual physical balance of material is called:
Options :

136480469. # stock clearance

136480470. ¥ stock verification

136480471. # balance sheet

136480472. # needed stocks

Question Number : 119 Question Id : 136480119 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS 3aA gicd off HRd H W Yohdd! & IR H TSR YGH dxdl g, 39 Hglodl g
Options :

136480473, % UTZARY g ARMT

136480474, % Jd SHIHTH RieeH

136480475, ¢ T HAGTHC SHTHLH Red

136480476, % HIFS SHIHRH ReH

Question Number : 119 Question Id : 136480119 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An online portal that provides information on health indicators in India is called:
Options :

136480473. # Primary health nursing

136480474. # Web information system

136480475. ¥ Health management information system

136480476. #* Marked information system

Question Number : 120 Question Id : 136480120 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST AR BRI SR ML (1CU) & SFER TR are § F-If srurd a1 32
Note: For this question, discrepancy 1s found in




question/answer. Full Marks 1s being awarded to all
candidates.

Options :

136480477.1:2
136480478.1 : 4
136480479.1: 6
136480480. 1 : 8

Question Number : 120 Question Id : 136480120 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
According to Indian Nursing Council and ICU what is the nurse-patient ratio in general wards?

Note: For this question, discrepancy 1s found in
question/answer. Full Marks 1s being awarded to all
candidates.

Options :

136480477.1:2
136480478.1: 4
136480479.1: 6
136480480.1 : 8



